
FRACTIONS (THE FOUR RULES)
[ESTIMATED TIME: 50 minutes] GCSE

(+ IGCSE) EXAM QUESTION PRACTICE
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3 Show that    
3
4

4
5

111
20

+ =

(Total for Question 3 is 2 marks)

4  E!= {whole numbers}
 A = {factors of 100}
 B = {multiples of 5}
 List the members of the set  A � B

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 4 is 2 marks)

1. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2016, 4HR Q3:  2 Marks
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4 (a) Expand  6(3a – 2b + c)

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(1)

 (b) Factorise  t2 – 10t

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

 (c) Solve  x x= −7 2
3

  Show clear algebraic working.

x = .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(3)

(Total for Question 4 is 6 marks)

5 Show that  4
9

 – 1
6

 = 5
18

(Total for Question 5 is 2 marks)

2. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2013, 3HR Q5:  2 Marks

Questions compiled by:
@Maths4Everyone

Contains questions which have been reproduced with the kind
permission of Pearson Education Limited UK
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2 Lizzy drove by car to visit her aunt.
 She left home at 930 am.

 Lizzy arrived at her aunt�’s house at 1115 am.
 She drove a distance of 140 km.

 Work out, in km/h, Lizzy�’s average speed for the journey.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  km/h

 (Total for Question 2 is 3 marks)

3 Show that   3
8

7
12

9
14

÷ =

(Total for Question 3 is 2 marks)

3. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2016, 3H Q3: 
֪
 2 Marks

4. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2013, 4H Q5:  4 Marks



DJMs CLASSIC IGCSE Extra Questions 
 
 

1. (a) Work out the value of 9.8
2 ×2.5
3−1

−1.4  

 
  Write down all the figures on your calculator display. 
 
 

   ............................................................  
(1) 

 
 (b) Give your answer to part (a) correct to 2 significant figures. 
 
 

   ............................................  
(1) 

 
 
 

2. Show that 12
3
÷
3
4
= 2 2
9

. 

 
 
 
 
 
 
 
 
 
 

(3) 

 

 (b) Show that 34
9
−15
6
=111
18

 

 
 
 
 
 
 
 
 
 

(3) 

  

5. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

May by Maths4Everyone.com, Extra Q4:  3 Marks
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4 (a) Show that    4
5

2
3

1 7
15

+ =

(2)

 (b) Show that    2 1
4

3 1
2

9
14

÷ =

(3)

(Total for Question 4 is 5 marks)

5 Use ruler and compasses to construct the bisector of angle ABC.

 You must show all of your construction lines.

(Total for Question 5 is 2 marks)

A

B

C

6. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2014, 4HR Q4:  5 Marks



1'#S'+

B.#&Y

J

!"#$$$%&%$'(! <?;(*'L8;

SF+ 6#7+ 3A-C+5A#5+++
14
34

7
6 =÷

IJK

+ 6B7+ 3A-C+5A#5+++
15
111

3
21

5
23 =−

I#K RS

I<'0-=*S*.-;N1K

7. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2010, 3H Q5:  5 Marks



 (a) Show that 
 
11

5
× 2 1

3
= 2 4

5
  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
(3) 

 
 (b) Write the numbers 3, 4, 5 and 6 in the boxes to give the greatest possible total. 

 You may write each number only once. 
 
 

 

1 + 2  

 
 

(1) 

(Total for Question x is 4 marks) 
 

  

8. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

October by Maths4Everyone.com, Extra Q10:  4 Marks



1'#P'+

O.#&R

[

!"#$%&'(&*)&! <?;(*'L8;

!F+ 6#7+ C,.5%=./+-,5+[6.+a+W7

;;;;;;;;;;;;;;;;;;;;
IOK

+ 6O7+ 3%$=.%?/+*+b+*+b+*/b+*/b+*/b+*

;;;;;;;;;;;;;;;;;;;;
IOK

+ 6@7+ 3-.P'+Y6)+!+F7+_+A

)+_+;;;;;;;;;;;;;;;;;;;;
I$K

RF+ 6#7+
A

HG
+-?+5L'+$'$O'(*+-?+#+5'&&%*+@.,O+#('+$'&;

+ +
[

W
+-?+5L'*'+$'&+#('+(%8L5cL#&2'2;

+ + T-(R+-,5+5L'+?(#@5%-&+-?+5L'+$'$O'(*+-?+5L'+5'&&%*+@.,O+QL-+#('+(%8L5cL#&2'2+$'&;

;;;;;;;;;;;;;;;;;;;;
IJK

+ 6O7+
D

HF
+-?+5L'+$'$O'(*+-?+#+O#2$%&5-&+@.,O+#('+Q-$'&;

+ +
A

Z
+-?+5L'+$'$O'(*+-?+5L'+O#2$%&5-&+@.,O+Q'#(+8.#**'*;

+ + T-(R+-,5+5L'+*$#..'*5+=-**%O.'+&,$O'(+-?+$'$O'(*+-?+5L'+O#2$%&5-&+@.,O;

;;;;;;;;;;;;;;;;;;;;
IJK

Q!

I<'0-=*R*.-;N1K

QR

I<'0-=*!*.-;N1K

9. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2010, 3H Q5:  4 MarksLeave
blank

6N18957A

2. The table shows the first three terms of a sequence.

The rule for this sequence is

Term = (Term number)2 + 1

(a) Work out the next two terms of this sequence.

..............,  ..............
(2)

(b) One term of this sequence is 101.
Find the term number of this term.

..........................
(2)

3. (a) Nikos drinks of a litre of orange juice each day.
How many litres does Nikos drink in 5 days?
Give your answer as a mixed number.

..........................
(2)

(b) (i) Find the lowest common multiple of 4 and 6.

..........................

(ii) Work out 3 + 2 .
Give your answer as a mixed number.
You must show all your working.

..........................
(3)

5
6

3
4

2
3

Q2

(Total 4 marks)

Term number

Term

1

2

2

5

3

10

Q3

(Total 5 marks)

10. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2004, 3H Q3:  5 Marks
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19 Lethna worked out  2
5

1
2

+

 She wrote:

2
5

1
2

2
10

1
10

3
10

+ = + =

 The answer of 
3
10

 is wrong.

 (a) Describe one mistake that Lethna made.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(1)

 Dave worked out  1
1
2

 × 5 1
3

 He wrote:

1 × 5 = 5  and  1
2

 × 1
3
 = 1
6

so  1 1
2

 × 5 1
3
 = 5 1

6

 The answer of 5
1
6

 is wrong.

 (b) Describe one mistake that Dave made.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(1)

(Total for Question 19 is 2 marks)
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18 Here is a list of ingredients for making 16 mince pies.

Ingredients for 16 mince pies

240 g of butter
350 g of flour
100 g of sugar
280 g of mincemeat

 Elaine wants to make 72 mince pies.

 How much of each ingredient will Elaine need?

butter .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . g

flour .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . g

sugar .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . g

mincemeat .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . g

(Total for Question 18 is 3 marks)

11. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

9-1 Set 1 2017, 2F Q70:  2 Marks
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6 (a) Show that    3
10

2
15

13
30

+ =

(2)

 (b) Show that    2 5
8

11
6

2 1
4

÷ =

(3)

(Total for Question 6 is 5 marks)

12. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2016, 3H Q6:  5 Marks



 Show that 
 
2 1

4
× 2 2

3
= 6   

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
(3) 

 
  

13. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

October by Maths4Everyone.com, Extra Q8:  3 Marks

7
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8 Lisa sees a dress in a sale.
 The normal price of the dress is $45
 The price of the dress is reduced by 12% in the sale.

 (a) Work out the price of the dress in the sale.

$ .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(3)

 Lisa’s weekly pay increases from $525 to $546

 (b) Calculate her percentage pay increase.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . %
(3)

(Total for Question 8 is 6 marks)

9 Show that  7 4 21
2

2
3

5
6

− =  

(Total for Question 9 is 3 marks)

14. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2015, 3HR Q9:  3 Marks



1'#O'+

N.#&Q

Y

!"#$%&'(&%)*! ;>:')&K7:

TE+ 3K-P+5K#5+
5
11

4
11

2
11 =÷

UE+ 0K'+2'=5K+-?+P#5'(+%&+#+('*'(O-%(+%&@('#*'*+?(-$+DA+$+5-+DZ;^Z+$;

+ T-(Q+-,5+5K'+='(@'&5#8'+%&@('#*';

+ +;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;; +b

OT

H;&/,<)P)-,:M0J

OU

H;&/,<)P)-,:M0J

15. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2010, 4H Q8:  3 MarksDJMs CLASSIC IGCSE Extra Questions 
 

 Show that   
 

3 3
4
− 2 2

3
⎛
⎝⎜

⎞
⎠⎟
×11

2
= 15

8
  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
(4) 

 
 

 Find 
 

1
3
− 1

3
× 1

3
⎛
⎝⎜

⎞
⎠⎟
+ 1

3
÷ 1

3
⎛
⎝⎜

⎞
⎠⎟

  

 
 Show clear working out. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  ........................................................  
(3) 

16. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

October by Maths4Everyone.com, Extra Q14:  3 Marks



DJMs CLASSIC IGCSE Extra Questions 
 

 Show that   
 

3 3
4
− 2 2

3
⎛
⎝⎜

⎞
⎠⎟
×11

2
= 15

8
  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
(4) 

 
 

 Find 
 

1
3
− 1

3
× 1

3
⎛
⎝⎜

⎞
⎠⎟
+ 1

3
÷ 1

3
⎛
⎝⎜

⎞
⎠⎟

  

 
 Show clear working out. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  ........................................................  
(3) 

17. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

October by Maths4Everyone.com, Extra Q17:  4 Marks


